
                                                                  klws nOvI              

smW: 3GMty                                                        ilKqI: 80 AMk 

                                                             AMqirk mulWkx :20 AMk 

                                                               kul AMk : 100 

                               pRSn p`qr dI bxqr 

pRSn p`qr iv`c 10 pRSn hoxgy[swry pRSn jrUrI hn[AMkW dI vMf hyT ilKy Anuswr hY[ 

pwT nM. Aqy pwT dw nW 1 AMk vwly 

pRSn  

2 AMk vwly 

pRSn 

3 AMk vwly 

pRSn 

5 AMk vwly 

pRSn 

ku`l AMk  

pwT nM.1 swfy Awly duAwly dy 

pdwrQ 

3 1 1  8  

pwT nM.2 kI swfy Awly duAwly dy 

pdwrQ SuD̀ hn? 

3 1 1  8  

pwT nM.3 pRmwxU Aqy AxU 4 1 1  9  

pwT nM.4 pRmwxU dI bxqr 3   1 8  

pwT nM.5 jIvn dI muF̀lI iekweI 2 1 1  7  

pwT nM.6 itSU 3   1 8  

pwT nM.7 sjIvW iv`c iviBMnqw slybs 

iv`c nhIN 

     

pwT nM.8 gqI 3 1 1  8  

pwT nM.9 bl Aqy gqI dy inXm 2 1  1 9  

pwT nM.10 gurUqw AwkrSx 2 1   4  

pwT nM.11 kwrj Aqy aUrjw 2 2   6  

pwT nM.12 DunI slybs 

iv`c nhIN 

     

pwT nM.13 AsIN ibmwr ikauN huMdy 

hW? 

3 1   5  

pwT nM.14 kudrqI sMswDn slybs 

iv`c nhIN 

     

pwT nM.15KwD-pdwrQW dy sMswDnW 

iv`c suDwr 

slybs 

iv`c nhIN 

     

ku`l pRSn 30*1=30 

AMk 

10*2=20AMk 5*3=15 

AMk 

3*5=15 

AMk 

80 AMk  

1pRSn p`qr iv̀c ku`l 19 pRSn hoxgy[ 

2 pRSn nM.1 bhuivklpI pRSn ijsdy 30 Bwg hoxgy[hryk Bwg dw iek̀ AMk hovygw[ 

3 pRSn nM.2.. do AMkW vwly pRSn (pRSn nM. 2 qoN 11 q`k) 

4 pRSn nM.3.. iqMn AMkW vwly pRSn (pRSn nM. 12 qoN 16 qk̀) 

5 pRSn nM.2.. pMj AMkW vwly pRSn (pRSn nM. 17 qoN 19 qk̀) 



 

 


